@eL' & v[a.o(fj

- (/L \)a (\) ol,ouo) vm\/J\al,m Pw\:, gﬂ Vﬂslvmb V\¢Yu$\,¢/~v«0

Po \ow\o\lﬁﬂv{. )
- ywm\).n JA (P M

- Lshj kpa

S fhor Pm\l tn. YMMW ni

P, P, ... P,

- 1 6Vb‘\f{'f~'v'/\ PDS\ﬂT\oLu?M(V'CL‘MYl"'J""o) Fesimo PNL\M
\n ;Lo\m'wv yaiht

Qn RL i }2 n
S el st p velitr gvlal”ﬂ.
R
?YUL\W;« D
Prtmsn
' }”\.L&LA a

. Gy YL](’,\M . MY"’-\X@W&

(\%\sclu,»]p\ ' P 0 |
Vv fodlmk ali:)) Fo\'gg; L faks . elomte X
’ P"“V“’thvn'. Vv Po\ WM:J}'. Poﬂ'hlacl{ Po(ii{ indelg X

Ufc'\wwjf 1 }L'w»v;vLer:



P ouredl habelo a Ldiime 1
R R b iyt
PQ’ ureha Mg"] ~) ¢ Wﬁ“‘\

\/lﬂll[‘j ?:l/"J v\vt\‘)(,w{ \—I\.L»&t l() w C

Cosouns 1 powost Ak & v\mj b it

R fodrrololdw'ﬁ(/ ptlehostt  o-nL (M:v&uLosl‘mellm.]
0¢x<{

ik & vlady Sougey op it N dde v owd Yoo,
Do it 10

’ V@(\qo Vi mD

BO\”{WO" T(_w) < Lnsoune Hunva* W pw

() = 1

T(VL\) = VLv“i’ [@-T(aw)
T(v»\= wt ke ((otvn{+ EL,T(D(QVL)) B
Y\.r‘(’i“'&'o{) + &}T(d\lw\
wo o) + &Z(@gzn)r,‘. {L.T(OEV\)) =
W B o)+ BT (L)

"
1

1l

)

V\r(/l.l— {kroﬂr;(&.dryi P(‘LJ)J) + {rjtﬂl—(o{"u)

Ughnr ho

(1

‘\H l

/Hﬂ" Qﬂg %\"“La n
Jo = ~ oy -1 ’\o% -1



N A
IO NSRS
f) @(@f%é>

?rmmoi Mv%)w‘ﬁic 1 l'(»{uw/jam: 12‘-'1 <><=34~ r=1

Vi 3&0 JS r /- (&d

At (e (R = 0

N hd <t S (et (R € glw)
g/\K_/

< —_—

- (ko)




) ha' =1
|\3f]d\“-y=0
\(=~\0de



I oment verwldat

r1>ra\ole|m vellkosi o rardebmo na k POAP(()H&IM\IJ
vaale ol MJL :Yz vel.h /b rD@L\ v l’""} olgm(, {’p. S‘wz}oﬁj N LomLo

Casovms pihfevmsch:
T(1) =1 T = w kT[T

) Ce g beb o T e O(n)

) G bsb T(») €0 (n Oj)‘, ")

) g kob e Tlne O( )




S’t Y&h§Sevov 0 vwmoi&/ﬁe matnfe,
\J

Mlnoil.w.o Vhﬁ:l\n:fﬂ.e ve(/l\wdi nx n

' Obl(/tjmo \mhoit"j(i A ’B = C
" 3
CE,J - L A{‘g' BL_J' =) O(V\ >

k=1
C— e~

Y\l ooy O(n) oPHM:i
’ (B|o'(:vro W\no;cevje,f
[An Au] ]-:(Bu Bll] . —C'\ Cll
Al) All (B'LI (B'Ll ) Cu C‘u
CIJ - AL&'&J + /A\iz’(BLJ' Dol i v\aiﬂ'_;
- >
f=8  b=1 (=1

—
Ly bloki O () sei}e,ij
>k

T(n) € 0(n3*) > Ow)

* Ghvassen



The Strassen algorithm defines instead new matrices:

M, := (A1 + Az2)(B11 + Bao)

M, := (Az; + A22)B1;

M;3 := A;1(B12 — Bap)

My := Ay (By; —Bi)

M; := (A1 + A12)Bsp

M := (A21 — A11)(B11 + Bi)

M7 := (A1 — Az)(Ba1 + Bypo)
only using 7 multiplications (one for each M) instead of 8. We may now express the C;; in terms of M:

Cl,l =M; + My — M5 + My,

01’2 = Mj3 + Mj

Cs1 =M, + My

Coo =M; — My + M; + Mg
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